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1. AB is a line segment and line | is its perpendicular
bisector. If a point P lies on |, show that P is equidistant

from A and B.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ALVxC5TUcsmm

2. In the given figure, AB||DC and AD||BC show

that AABC =~ ACDA.

D C

o Watch Video Solution

3. In the given figure, AL || DC, E is mid point of BC. Show

that AEBL =~ AECD.


https://dl.doubtnut.com/l/_ALVxC5TUcsmm
https://dl.doubtnut.com/l/_IwAi3DXinJMZ
https://dl.doubtnut.com/l/_2s3JBKaXgEZ8
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° Watch Video Solution

4. Use the information given in the adjoining figure, to

prove :

(i)ADBC =~ AEAC


https://dl.doubtnut.com/l/_2s3JBKaXgEZ8
https://dl.doubtnut.com/l/_Y3CQZHdQqaU8

(i) DC = EC.

° Watch Video Solution

5. Line-segment AB is parallel to another line-segment
CD. O is the mid-point of AD.

Show that (i) AAOB = ADOQOC (ii) O is also the mid-


https://dl.doubtnut.com/l/_Y3CQZHdQqaU8
https://dl.doubtnut.com/l/_Kr695yFIAVqj

point of BC.

C

° Watch Video Solution

6. In AABC, the bisector AD of A is perpendicular to

side BC Show that AB = AC and AABC is isosceles.


https://dl.doubtnut.com/l/_Kr695yFIAVqj
https://dl.doubtnut.com/l/_RdiPTL7qkk76

° Watch Video Solution

7. In the adjacent figure, AB = BC' and AC = CD.

Prove that: /BAD: /ADB = 3:1.


https://dl.doubtnut.com/l/_RdiPTL7qkk76
https://dl.doubtnut.com/l/_RRM5dPqBG9Ru

° Watch Video Solution

8.In the given figure, AD is perpendicular to BC and EF ||
BC, if /ZEAB = /FAC, show that triangles ABD and
ACD are congruent.

Also, find the values of x and y if


https://dl.doubtnut.com/l/_RRM5dPqBG9Ru
https://dl.doubtnut.com/l/_6ExqWJrkf2wh

AB =2x+3,AC =3y+1,BD =z and DC =y + 1.

E F

° Watch Video Solution

9.E and F are respectively the mid-points of equal sides

AB and AC of AABC (see figure)


https://dl.doubtnut.com/l/_6ExqWJrkf2wh
https://dl.doubtnut.com/l/_oj1hdx6yDxCD

Show that BF = CE.

° Watch Video Solution

10. In an isosceles triangle ABC with AB = AC, D and E are
points on BC such that BE = CD (see figure) Show that

AD = AE

[ ° WA _ L vl e~_ 0 ]


https://dl.doubtnut.com/l/_oj1hdx6yDxCD
https://dl.doubtnut.com/l/_wPfKHLT981uY
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1. In the given figure, AB||DC and AD||BC show

that AABC =~ ACDA.

D C

o Watch Video Solution



https://dl.doubtnut.com/l/_wPfKHLT981uY
https://dl.doubtnut.com/l/_dEVKYk6QUqwg

12. AB is a line - segment. P and Q are points on either
side of AB such that each of them is equidistant from
the points A and B (See Fig ). Show that the line PQ is

the perpendicular bisector of AB.

o Watch Video Solution

13. P is a point equidistant from two lines | and m

intersecting at point A (see figure). Show that the line


https://dl.doubtnut.com/l/_FuJGO5IggfYV
https://dl.doubtnut.com/l/_ayfRETee4A0i

AP bisects the angle between them.

& ".-tm

° Watch Video Solution

14.D is a point on side BC AABC such that AD = AC (see

figure). Show that AB > AD.


https://dl.doubtnut.com/l/_ayfRETee4A0i
https://dl.doubtnut.com/l/_xMHreC0oLAaC

° Watch Video Solution

1. There are some statements given below. Write

whether they are true or false :

Two circle are always congruent.

o Watch Video Solution



https://dl.doubtnut.com/l/_xMHreC0oLAaC
https://dl.doubtnut.com/l/_ghFaXgNWOvy4

2. There are some statements given below. Write
whether they are true or false :
Two line segments of same length are always

congruent.

° Watch Video Solution

3. There are some statements given below. Write
whether they are true or false :

Two right angle triangles are sometimes congruent.

o Watch Video Solution



https://dl.doubtnut.com/l/_ghFaXgNWOvy4
https://dl.doubtnut.com/l/_jPSzeb2huGrU
https://dl.doubtnut.com/l/_25bKbnE1KTjR

4. There are some statements given below. Write
whether they are true or false :
Two equilateral triangles with their sides equal are

always congruent.

° Watch Video Solution

5. Which minimum measurements do you require to
check if the given figures are congruent:

i. Two rectangles ii. Two rhombuses.

o Watch Video Solution



https://dl.doubtnut.com/l/_90Mcgagjs6K0
https://dl.doubtnut.com/l/_uheae4CPViWU

6. State whether the following triangles are congruent

or not? Give reasons for your answer.

° Watch Video Solution

7. State whether the following triangles are congruent

or not? Give reasons for your answer.


https://dl.doubtnut.com/l/_cumVyA9KajN8
https://dl.doubtnut.com/l/_BnHucWDS35mx

° Watch Video Solution

8. In the given figure, the point P bisects AB and DC.
Prove that

AAPC =~ ABPD
(NCERT_GUJ_MAT IX_CO7 EO1 008 QO01.png"

width="80%">

o Watch Video Solution



https://dl.doubtnut.com/l/_BnHucWDS35mx
https://dl.doubtnut.com/l/_PGWma4LNweYq

9. In the adjacent figure AABC and ADBC are two

triangles such that AB = BD and AC = CD . Show

that AABC = ADBC.
A

D

o Watch Video Solution



https://dl.doubtnut.com/l/_PGWma4LNweYq
https://dl.doubtnut.com/l/_3em9CV30RMCo

10. Now draw a triangle ABC and measure its sides. Find
the sum of the sides AB + BC, BC + AC and AC + AB,
compare it with the length of the third side. What do
you observe?

You will observe that AB + BC > AC, BC + AC > AB and AC

+ AB > BC.

° Watch Video Solution

1. In quadrilateral ACBD, AC = AD and AB bisects

/A Showthat AABC = AABD.


https://dl.doubtnut.com/l/_ZKQtW1U4ecYa
https://dl.doubtnut.com/l/_4NcsjnVcFnhn

What can you say about BC and BD?
C

1)

° Watch Video Solution

2. ABCD is a quadrilateral in which AD = BC and
/DAB = ZCBA Prove that
(1) AABD =~ ABAC

(i) BD = AC


https://dl.doubtnut.com/l/_4NcsjnVcFnhn
https://dl.doubtnut.com/l/_dzqfqhunnirc

(iil)ZABD = /BAC

¢ D

° Watch Video Solution

3. AD and BC are equal and perpendiculars to a line

segment AB. Show that CD bisects AB.


https://dl.doubtnut.com/l/_dzqfqhunnirc
https://dl.doubtnut.com/l/_HU41I5ryfNJj

° Watch Video Solution

4.| and m are two parallel lines intersected by another

pair of parallel lines p and q . Show that

AABC = ACDA.

)\.



https://dl.doubtnut.com/l/_HU41I5ryfNJj
https://dl.doubtnut.com/l/_P3p0qCoHkKYR
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5. In the adjacent figure,

AC = AE,AB = AD and /BAD = /EAC. Show

that BC = DE.

o Watch Video Solution



https://dl.doubtnut.com/l/_P3p0qCoHkKYR
https://dl.doubtnut.com/l/_KW8JMBXr6ouw

6. In right triangle ABC, right angle is at C, M is the mid-
point of hypotenuse AB. C is joined to M and produced
to a point D such that DM = CM. Point D is joined to
point B (see figure). Show that :

(1) AAMC =~ ABMD

(i1)£DBC'is a right angle

1
(i#i) ADBC = AACB (v)CM = - AB.

| 4

° Watch Video Solution



https://dl.doubtnut.com/l/_YDpFGg6SEdMD

7.1n the adjacent figure ABCD is a square and AAPB is

an equilateral triangle. Prove thatAAPD = ABPC.

I il

o Watch Video Solution



https://dl.doubtnut.com/l/_C7KVzuOaY2eY

8. In the adjacent figure AABC is isosceles as
AB = AC, BA and CA are produced to Q and P such

that AQ = AP..Showthat PB = QC.

P Q

A

o Watch Video Solution



https://dl.doubtnut.com/l/_CKOsL409N8cr
https://dl.doubtnut.com/l/_rCxZ0cXOjf6e

9. In the adjacent figure AABC, D is the midpoint of
BC. DE | AB,DF 1 AC and DE = DF. Show that

ABED = ACFD.

o Watch Video Solution



https://dl.doubtnut.com/l/_rCxZ0cXOjf6e

10. If the bisector of an angle of a triangle also bisects

the opposite side, prove that the triangle is isosceles.

° Watch Video Solution

11. In the given figure ABC is a right triangle and right

angled at B such that /BCA = 2/BAC.


https://dl.doubtnut.com/l/_QkenJN0QTUPe
https://dl.doubtnut.com/l/_Ge0xqJJYDLIj

Show that hypotenuse AC = 2BC.

° Watch Video Solution



https://dl.doubtnut.com/l/_Ge0xqJJYDLIj

1. In an isosceles triangle ABC, with AB = AC, the
bisectors of /B and ZC intersect each other at O. Join
Ato O.Show that :

(i) OB = OC (ii) AO bisects LA

o Watch Video Solution



https://dl.doubtnut.com/l/_9KiTXORD1BHz

2.In A ABC, AD is the perpendicular bisector of BC
(see the given figure). Show that /A ABC is an isosceles
triangle in which AB = AB

o

A

B [ s

o Watch Video Solution



https://dl.doubtnut.com/l/_vJRUGOHi0kpx

3. ABC is an isosceles trian gle in w h ich altitudes BE
and CF are drawn to equal sides AC and AB respectively
(see the given figure). Show that these altitudes are

equal.

o Watch Video Solution



https://dl.doubtnut.com/l/_WfGuiZqWjZ7D

4.ABC is a triangle in which altitudes BE and CF to sides

AC and AB are equal (see the given figure). Show that (i
) AN ABE = A ACF

(ii) AB = AC i.e ABC is an isoceles triangle

o Watch Video Solution

5. ABC and DBC are two isosceles triangles on the same

base BC (see the given figure). Show that


https://dl.doubtnut.com/l/_Avgd17rWhV6X
https://dl.doubtnut.com/l/_TfQUEb7cx3JP

/ZABD = LZACD.

o Watch Video Solution



https://dl.doubtnut.com/l/_TfQUEb7cx3JP

1. AD is an altitude of an isosceles triangle ABC in which

AB = AC. Show that: (i) AD bisects BC ( ii) AD bisects £ A

A

B -+ C
D

o Watch Video Solution

2. Two sides AB, BC and median AM of one triangle ABC

are respectively equal to sides PQ and QR and median


https://dl.doubtnut.com/l/_d3QOz93V25Si
https://dl.doubtnut.com/l/_aBQZvNqAq9c0

PN of APQR (See figure). Show that:
(1)) AABM =~ APQN

(1)) AABC =~ APQR

A P

° Watch Video Solution

3. BE and CF are two equal altitudes of a triangle ABC.

Using RHS congruence rule, prove that the triangle ABC


https://dl.doubtnut.com/l/_aBQZvNqAq9c0
https://dl.doubtnut.com/l/_IM70jsQGkbjh

is isosceles.

o Watch Video Solution



https://dl.doubtnut.com/l/_IM70jsQGkbjh

4. ABC is an isosceles triangle with AB = AC. Draw AP |

BC to show that /B = /C

A

—
B P C

o Watch Video Solution



https://dl.doubtnut.com/l/_YBjLXR2Rr1A9

5. A ABCis an isosceles trian g le in w h ich AB = AC.
Side BA is produced to D such that AD = AB (see the

given figure). Show that £ BCD is a right angle.

B X

o Watch Video Solution



https://dl.doubtnut.com/l/_jqq6QEedBEpZ

6. ABC is a right angled triangle in which ZA = 90°

and AB = AC. Find /B and Z C.

° Watch Video Solution

7. Show that the angles of an equilateral triangle are

60° each.

° Watch Video Solution



https://dl.doubtnut.com/l/_mB9dAiR8tEaV
https://dl.doubtnut.com/l/_IqWoVMg6aV8O

1. Show that in a right angled triangle, the hypotenuse

is the longest side.

° Watch Video Solution

2. In the given figure, sides AB and AC of /A ABC are

extended to points P and Q respectively. Also,


https://dl.doubtnut.com/l/_9L2lFic4QYhA
https://dl.doubtnut.com/l/_gfyos5E5lCwb

/PBC < ZQCB.Showthat AC > AB

A
B

P Q'

° Watch Video Solution

3. In adjacent figure, /B < /A and ZC < ZD Show

that AD < BC.


https://dl.doubtnut.com/l/_gfyos5E5lCwb
https://dl.doubtnut.com/l/_6VtLDg9sGXmW

° Watch Video Solution

4. AB and CD are respectively the smallest and longest

sides of aquadrilateral ABCD (see adjacent figure). Show


https://dl.doubtnut.com/l/_6VtLDg9sGXmW
https://dl.doubtnut.com/l/_8lJDHbXmfm5p

that /A > /C and /B > /D.

D

° Watch Video Solution

5. In adjacent figure, PR > PQ and PS bisects ZQPR.

Prove that /PSR > /PSQ.


https://dl.doubtnut.com/l/_8lJDHbXmfm5p
https://dl.doubtnut.com/l/_CygcT1AaFZyK

° Watch Video Solution

6. If two sides of a triangle measure 4 cm and 6 cm find
all possible measurements (positive Integers) of the
third side. How many distinct triangles can be

obtained?

o Watch Video Solution



https://dl.doubtnut.com/l/_CygcT1AaFZyK
https://dl.doubtnut.com/l/_wo9xRiTHrOWu
https://dl.doubtnut.com/l/_28erzDwnM11X

7.Try to construct a triangle with 5cm,8 cm and 1cm. Is

it possible or not ? Why ? Give your justification?

0 Watch Video Solution



https://dl.doubtnut.com/l/_28erzDwnM11X

